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1. A gas X at 1 atm is bubbled through a solution containing a 
mixture of 1 M y- and 1 M z- at 25°C. If the reduction 
potential ofZ> Y > X, then, 4. 
(a) Y will oxidize X and not Z 
(b) Y will oxidize Z and not X 
(c) Y will oxidize both X and Z 
(d) Y will reduce both X and Z 

2. On the basis of the following Eo values, the strongest 
oxidizing agent is: 
[Fe(CN)6]4- �[Fe(CN\]3- +e-; E0 =-0.35 V 
Fe2+ � Fe3+ + e-; E0 =- 0.77 V 5. 
(a) (Fe(CN)6]4- (b) Fe2+ 
(c) Fe3+ (d) (Fe(CN)6]3-

3. Resistance of a conductivity cell filled with a solution of an 
electrolyte of concentration 0.1 M is 100 n. The conductivity 
of this solution is 1.29 S m-1. Resistance of the same cell 
when filled with 0.2 M of the same solution is 520 n. The 
molar conductivity of0.2 M solution of electrolyte will be 

(a) 1 .24 x 10-4 S m2 moi- 1 (b) 12.4 x 10-4 S m2 mol-1 
(c) 124 x 10-4 S m2 mol-1 (d) 1240 x 10-4 S m2 mol-1 
Fortbcclcctrochcmical cell, M I M+ II x- I X, 

E0 M. /M = 0.44V and E0 XIX- = 0.33V. 
From this data one can deduce that 
(a) M + X � M+ + x- is the spontaneous reaction 
(b) M++ x- � M +X is the spontaneous reaction 
(c) Ece11=0.77V 
(d) Eceu=-0.77V 
What will be the cmffor the given cell 
Pt l � (P1) I W (aq) I I �  (P2) IPt 

(a) R T 1  f) F oge p2 
(b) 

RT I fl 
- og -e p2 2F 

(c) 
RT loo P2 
F oe p, 

I 
(d) None of these 

1 .  ®®@@ 2. ®®@@ 3. ®®@@ 4. ®®@@ 5. ®®@@ 
Space for Rough Work -----------------



lc��------------------------------------------------------ DPP/ CC17 
6. 

7. 

8. 

What is the standard cell potential E0 for an electrochemical 
cell in which the following reaction takes place 
spontaneously ? 
Cl2 (g)+ 2Br- � Br2 (aq) + 2CC, �Go = -50.6 kJ 
(a) 1.2V (b) 0.53 V 
(c) 0.26V (d) --0.53 V 
The unit of equivalent conductivity is 
(a) ohmcm 
(b) ohm-1 cm2 (g equivalentt1 
(c) ohm cm2 (g equivalent) 
(d) Scm-2 
The variation of equivalent conductance of strong 
electrolyte with (concentration)v, is represented by 

(a) tl� l (b) tlvl 
..rc� ..rc� 

(c) tD (d) tiLl 
.rc� ..rc� 

9. Consider the following cell reaction: 
2Fe(s) + 02(g) +4H+ (aq) � 

2Fe2+ (aq) + 2H20{1);£0 = 1.67 V 
At (Fe2+] = l0-3 M, p(02) = 0. 1  atm and pH = 3, the cell 
potential at 25°C is 
(a) 1.47V (b) 1.77V 
(c) 1.87V (d) 1.57V 

10. The electrical properties and their respective 
SI units are given below. Identify the wrongly matched pair. 

Electrical property SI unit 
(a) Specific conductance S m-1 
(b) Conductance S 
(c) Equivalent conductance S m2 g equiv-1 
(d) Cell constant m 

11. Limiting molar conductivity ofNHPH 

(i.e.,A�l(NH4oH ) is equal to : 

(a) Ao Ao o n"{NH4CI)+ m( NaCI)-Am(NaOH) 

Rl-.SPO:\SE 
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(b) A�n(NaOH) + A�NacCA�n(NH4CI) 
Ao Ao o (c) m(NH40H)+ m(l'.'H4Cl) -An,HCI) 

(d) A�(NH4CI) + A�(NaOH -A�n(NaCI) 
12. A lead storage battery containing 5.0 L of (IN) H2S04 

solution is operated for 9. 65 x I 05 s ·with a steady current 
of 100 mA. Assuming volume of the solution remaining 
constant, normality of H2S04 will 
(a) remain tmchanged (b) increases by 0.20 
(c) increase by unity (d) decrease by 0.40 

13. The electrode potential E 2+/ of a zinc electrode at (Zn Zn) 
25°C with an aqueous solution of 0 . 1  M ZnS04 is 

o 2.303RT 
[ E  2+/ =-0.76V Assume F =0.06at298K]. 

(Zn Zn) 
00 +OB M -0� 
(c) -0.82 (d) -0.70 

14. A battery is constructed of Cr and Na2Cr207. The 
unbalanced chemical equation when such a battery 
discharges is following: 
Na2Cr207 + Cr + H+ � Cr3+ + H20 + Na + 
If one Faraday of electricity is passed through the battery 
during the charging, the number of moles ofCr3+ removed 
from the solution is 

4 
(a) 3 

(c) 
3 
3 

I 
(b) 3 

2 
(d) 3 

15. Which of the following reaction is possible at anode? 
(a) 2 Cr3++7�0� Crp/-+ l4W 
(b) F2 � 2F-
(c) ( l/2) 02 + 2W � HzO 
(d) none of these. 

16. In a hydrogen-oxygen fuel cell, combustion of hydrogen 
occurs to 
(a) produce high purity water 
(b) create potential difference between two electrodes 
(c) generte heat 
(d) remove adsorbed oxygen from electron surfaces 

8. ®®@@ 
13.®®0@ 
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17. E0 for the cell, 

Zn I Zn2+ (aq) I I  Cu2+ (aq)l Cu is 1 . 10  V at 25°C. The 
equilibrium constant for the cell reaction 
Zn + Cu2+(aq) � Cu +Zn2+(aq) 
is of the order of 
(a) 1 o-37 
(c) ro-17 

(b) l 037 
(d) 1017 

18. The correct order of Eo M2+ /M values with negative sign 
for the four successive elements Cr, Mn, Fe and Co is 
(a) Mn>Cr>Fe>Co (b) Cr<Fe>Mn>Co 
� �>�>Q>� � Q>�>�>� 

19. For a spontaneous reaction the � G, equilibrium constant 
(K) and E�ell will be respectively 
(a) -ve, > l ,-ve (b) -ve, < l ,-ve 
(c) +ve, > l ,  -ve (d) -ve, > l ,  +ve 

20. If the Eoceu for a given reaction has a negative value, then 
which of the following gives the correct relationships for 
thevauesct D.G0 and Keq ? 
(a) D.G0 > 0 ; Keq> l (b) D.G0 < 0 ; Keq> l 
(c) D.G0 < 0 ; K  < l  (d) D.G0 > 0 ; K  < l  

21. Wltich or the roilowing expressions correctlY represents 
the equivalent conductance at infinite dilution of A�(S04)3, 

Given that A :13+ and A;0�- are the equivalent 
conductances at infinite dilution of the respective ions? 
(a) �A:13+ +�A�o�- (b) 2A�3+ +3A;o�-

(c) A �13+ + A;0�- (d) (A :,3+ + A;oa-)x 6 

22. Given : E0 3+ 
= -0.74 V; E0 

_ 
2+ 

= 1 .51 V 
Cr /Cr M1104 /M11 

E0 2 3+ = 1.33 Y; E0 = 1.36 V 
c12o7-!Cr CJ/CI-

Based on the data given above, strongest oxidising agent 
will be :  
(a) Cl (b) QJ+ 
(c) Mn2+ (d) Mn04-

23. The standard electrode potentials ( E�+ /M )  of four metals 
A, B, C and D are - 1.2 V, 0.6 V, 0.85 V and - 0.76 V, 
respectively. The sequence of deposition of metals on 

R�.SI'O:\S�. 
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applying potential is: 
(a) A,C,B,D (b) B,D,C,A 
(c) C,B,D,A (d) D,A, B, C 

24. Which of the following statements is correct? 
(a) Oxidation numberofoxygen in K02 is+l 
(b) The specific conductance of an electrolyte solution 
decreases with increase in dilution 
(c) Sn2+ oxidises Fe3+ 
(d) Zn/ZnS04 is a reference electrode 

25. Molar ionic conductivities of a two-bivalent electrolytes 
x2+ and l- are 57 and 73 respectively. The molar 

conductivity of the solution formed by them will be 
(a) 130 S cm2 moi-1 (b) 65 S cm2moi-1 
(c) 260S cm2moi-1 (d) 187 S cm2moi-1 

26. The cell, Zn I Zn2+ (I M) II Cu2+ (I M) I Cu (Eo cell = 1 . 10  V) 
was allowed to be completely discharged at 298 K. The 

relative concentration ofZn2+ to Cu2+ [[Zn22+]) is 
[Cu + ]  

(a) 9.65 x 104 (b) antilog(24.08) 
(c) 37.3 (d) 10373• 

27. Which of the following statements is true for an 
electrochemical cell? 
(a) Reduction occurs at � electrode 
(b) � is cathode and Cu is anode 
(c) � is anode and Cu is cathode 
(d) Oxidation occurs at Cu electrode 

28. Given 
Fe3+ (aq) + e---+ Fe2+ (aq); £0 = + 0.77 V 
Al3+ (aq) + 3e---+ Al(s); £0=- 1 .66 V 
Br /aq) + 2e- --+ 2Br; E0 = + 1 .09 V 
Considering the electrode potentials, which of the following 
represents the correct order of reducing power? 
(a) Fe2+< Al < Br- (b) Br< Fe2+<Al 
(c) AI < Br < Fe2+ (d) AI< Fe2+< Br 

29. Standard free energies of formation (in kJ/mol) at 298 K are 
-ZJ7.2, -394.4a1d-8.2fcr �0(/), C02(g) and pentane (g), 
respectively. The value Eoccu for the pentane-oxygen fuel 
cell is : 
(a) 1.968V (b) 2.0968V (c) 1.0968V (d) 0.0968V 

30. Given E°C 3+ /C =-0.72 V, £OF 2+ I F =-0.42 V. The t"' r e e 
potential for the cell 
CrjCil1 (0.1M)I1 Fe2 1 (0.01 M)I Fe is 
(a) 0.26V (b) 0.336V (c) -0.339V (d) 0.26V 
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31. Electrolysis of dilute aqueous NaCl solution was carried 

out by passing 10 rnilli ampere current. The time required to 
liberate 0.01 mole of� gas at the cathode is 
(1 Faraday=96500 Cmol-1) 
(a) 9.65 x 104sec (b) 1 9.3 x 104sec 
(c) 28.95 x 104 sec (d) 38.6 x 104 sec 

32. Which of the following reaction occurs at the cathode during 
the charging oflead storage battery? 
(a) Pb2+ +2e- �Pb 
(b) Pb2+ +SO�- �PbS0 4 
(c) Pb�Pb2+ +2e­

(d) PbS04 +2H20� 2Pb02 +4H+ +SO�- +2e-
33. Conductanceof0.1 M KCl (conductivity=X ohm-1cm-1 ) 

filled in a conductivity cell is Y ohm-1 • Tftheconductance 

of0.1 MNaOHfilled in thesamecellisZ ohm-1 , themolar 
conductance ofNaOH will be 
(a) 103 XZ 

y 
(b) 104 xz 

y 

(d) 10 xz 

y 

xz 
(d) 0.1 --y 

34. How much charge is required, when 1 mole of Cr2o�­
reduce to form I mole ofCr3+? 
(a) 6F (b) 3F 
(c) IF (d) 2F 

35. In electrolysis of dilute RzS04 using platinum electrodes 
(a) Hz is evolved at cathode 
(b) � is produced at anode 
(c) Cl? is obtained at cathode 
(d) 02-is produced 

36. The resistance of 0.1 N solution of a salt is found to be 
2.5x 103 ohm . The equivalent conductance of the solution 
is (cell constant = 1 . 1 5  cm-1) 
(a) 4.6 (b) 5.6 (c) 6.6 (d) 7.6 

37. The highest electrical conductivity of the following aqueous 
solutions is of 
(a) 0.1 M difluoroacetic acid 
(b) 0.1 M fluoroacetic acid 
(c) 0 . 1  M chloroacetic acid 
(d) 0 . 1  M aceticacid 

38. When during electrolysis of a solution of AgN03 9650 
coulombs of charge pass through the electroplating bath, 
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the mass of silver deposited on the cathode will be 
(a) 10.8 g (b) 21.6 g (c) 108 g (d) 1.08 g 

39. The reduction potential ofhydrogen half-cell will be negative if: 
(a) p(Rz) = 1 atm and [W] = 2.0 M 
(b) p�) = l atmand [W] = 1 .0M 
(c) p�) = 2 atm and [W] = 1.0 M 
(d) p(H,) = 2 atm and [H+] = 2.0 M 

40. When electric current is passed through acidified water, 
1 12 mL of hydrogen gas at STP collected at the cathode in 
965 seconds. The current passed in amperes is 
(a) 1.0 (b) 0.5 (c) 0.1 (d) 2.0 

41. An electrolytic cell contains a solution of Ag2S04 and has 
platinum electrodes. A current is passed until 1 .6  g of02 has 
been liberated at anode. The amount of silver deposited at 
cathode would be 
(a) 107.88g (b) 1 .6 g 
(c) 0.8g (d) 2L60g 

42. Which of the following pair(s) is/are incorrectly matched? 
(i) R (resistance)- ohm (0) 
(ii) p (resistivity)- ohm metre (Om) 
(ili) G (conductance) - seimens or ohm (S) 
(iv) K (conductivity)- seimens metTe-1 (Sm-1) 
(a) (i), (ii) and (iii) (b) (ii) and (iii) 
(c) (i), (ii) and (iv) (d) (iii) only 

43. One Faraday of electricity is passed through molten Al203, 
aqueous solution ofCuS04 and molten NaCl taken in three 
different electrolytic cells connected in series. The mole ratio 
of AI, Cu and Na deposited at the respective cathode is 
(a) 2 :  3 : 6 (b) 6 :  2 :  3 
(c) 6 :  3 : 2 (d) l : 2 : 3 

44. lf pis the resistance in ohm of a centimeter cube, generally 
called the specific resistance of the substance constituting 
the conductor, the resistance r of the layer containing "a" 
cubes is given by 

1 1 1 l 1 1 
(a) -=-+-+...... (b) -=-+-+ ... r p p r pa pa  
(c) r = a / p  (d) r = p + p +  ...... 

45. Which of the following statements is wrong ? 
(a) Electrolysis of an aqueous sodium hydroxide solution 

liberates � gas at the cathode and 02 gas at the anode. 
(b) Electrolysis of diL l-IzS04 liberates �(g) at cathode 

and 02 (g) at the anode 
(c) �Go= nFE0 for a spontaneous reaction 

0.059 1 Q (d) E=Eo --- og , Where Q = reaction quotient. n 
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DAILY PRACTICE 
PROBLEMS 

CHEMISTRY 
SOLUTIONS 

1. 

2. 

3. 

4. 

(a) The given order of reduction potentials (or tendencies) 
is Z > Y > X. A spontaneous reaction will have the 
following characteristics 
Z reduced and Y oxidised 
Z reduced and X oxidised 
Y reduced and X oxidised 
Hence, Y will oxidise X and not Z. 

(c) From the given data we find Fe3+ is strongest oxidising 
agent. More the positive value of £0, more is the 
tendency to get oxidized. Thus correct option is (c). 

(b) R= lOOQ , K =  �(�) , 
I 
A (cell constant)= 1.29 x 100 m-1 

Given, R = 520 Q, C = 0.2 M, 
fl (molar conductivity) = ?  

fl = K x V (K can be calculated as K = � ( �) 
now cell constant is known.) 

Hence, 
1 29 1000 -6 3 J..l =-xl x--x10 m 

520 0.2 
= 12.4 x1Q-4S m2mol-1 

(b) For, M+ + X- �M+X, E�en =0.44-0.33=0.11V 
is positive, hence reaction is spontaneous. 

5. (b) RHS : 2W+ 2e- � Hz (P2) 

6. 

7. 
8. 

9. 

(c) 

LHS : Hz(P 1) � 2W + 2e-
overall reaction : H2 (P1) � Hz(P

2
) 

E · E· ·  RT In Pz . O· RT In P2 •  RT ln.!l_ 
nF P1 nF P1 nF P2 

£0 = -(-50.61J) = 0.26 v 
2 X 96500 X 10-3 

(b) Ohm-1 cm2 (g eq)-1 
(a) In case of equivalent conductance of strong electrolyte 

there is little increase with dilution. 
(<0 Here n=4,and[W]= I0-3(aspH= 3) 

Applying Nernst equation 

E =Eo _ 0.059 log [Fe2
+ ]2 

n [H+t<Po2 ) 
= 1 .67- 0.059 log (10-3 )2 

4 (l0-3)4 x O . l  

10. (<0 

11. (<0 

0.059 7 
• 1.67• -4

-logiO = 1.67-0.103= 1.567V 

Cell constant = /Ia 
Unit= m/m2 = m-1. 

. . A�1( r+) + A�( . ) Nl-14 oir 

Ao Ao Ao o 
m(NH40H)= m(NH4Ct) + m(NaOH) -Am(NaCI) 

12. (d) Pb+ SO�- �PbS04 +2e-

13. (b) 

Pb02 +4H+ +SO�- +2e- �PbS04 +2H20 

Pb+Pb02 +2H2S04 � 2PbS04 +2H20 
The reaction indicates that 2 moles of H2S04 
corresponds to 2 x 96500 C and 2 moles H2S04 = 4 
equiv. of H2S04. 
2 x 96500 C consumed 4 equiv. of H2SO4 

and 100 x 1 o-3 x 9.65 x 1 o5 C consumed 
4xl00x l0-3 x9.65xl05 

2x96500 

Decrease in normality= � = 0.40 . . 
5 

For Zn2+ �Zn 
2.303RT log ( Zn j 

nF [ zn
2+ J 

0.06 1 = -0.76-- Iog- = -0.76 - 0.03 2 [ 0. I ] 
£202+ /Zn = -0. 79V 
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14. (c) Reduction half reaction : 

15. (a) 

16. (b) 

17. (b) 

Cr20�- + 6e- + l4H+ �2Cr3+ + 7H20 
Oxidation half reaction : 
Cr�Cr3+ + 3e­
Overall reaction : 

Cr20�- + Cr + 14H+ + 3e- �3Cr3+ + 7H20 
3F of electricity = 3 moles of Cr3+ 3 IF of electricity = 3 moles of Cr3+ 

2Cr3+ + 7H20 � Cr20�- + l4H+ 
O.S. ofCr changes from +3 to +6 by loss of electrons. 
At anode oxidation takes place. 
ln H2 -02 fi1el cell, the combustion of� occurs to 
create potential difference between the two electrodes. 

Eo 
0.059 1 K l . !Ox  2 l · K - -- og or - og cell - 2 C 0.059 - C 

:. Kc = l .9x l037 

18. (a) The value of £0 2• / 
for given metal ions are 

M M 

Eo 2· I . . u8 v, 
Mn Mn 

£0 • • 0.44 Y and £0 0 28 V 
fc2' /Fe Co2' /co 

• • · · 

The correct order of £0 2. / values without 
M M 

considering negative sign would be 
Mn2+ > Cr2+> Fe2+> Co2+. 

19. (<0 For spontaneous reaction �G should be negative. 

20. (d) 

21. (c) 

Equilibrium constant should be more than one 
(�G =-2.303 RT log Kc, lfKc = 1 then 
�G = O; lfKc < I 
then �G = +ve). Again �G = -nFE�ell . 
E�eu must be +ve to have �G -ve. 
Standard Gibbs free energy is given as �Go =- nEo F 
If Eo cell < 0 i.e., -ve 

�G0> 0 
Further �G0 =-RTln Keq 
:. t.G0 > 0 andKeq < 0  
Conductivity of an electrolyte depends on the mobility 
of ions and concentration of ions. The motion of an 
ionic species in an electric field is retarded by the 
oppositely charged ions due to their interionic 
attraction. On dilution, concentration of electrolyte 
decreases and the retarding influence of oppositely 
charged ions decreases. Therefore mobility of ions 
increases. 

22. (d) Higher the value of standard reduction potential, 
stronger is the oxidising agent, hence Mn04- is the 
strongest oxidising agent 

23. (c) As the value of reduction potential decreases the 
reducing power increases i.e. 

C < B < D  < A  
(0.85). (0.6). (-0.76) (- 1.2) 

24. (b) Specific conductance decreases with dilution. 

25. (a) A: = 57 + 73 = 130 Scm2mot-1 
26. (d) Ecen = 0; when cell is completely discharged. 

- o ---too 0.059 [ [ Zn2+ J ] 
Eccll - E cell 2 o [ Cu2+ J [ [z 2+ ] ] 0 059 n 
or 0 =  1 . 1 --· -log 

2 [ Cu2+ J 
to ( [ Zn2+ ]]=�=37.3 g [ cu2+ J 0.059 . [[ zn2+ J] = 1037.3 . . [ Cu2+ J 

27. (c) Reduction potential ofCu is more than H2. 
28. (d) Reducing character decreases down the series. Hence 

the correct order is 
AI< Fe2+ < Br 

29. (c) Writing the equation for pentane-oxygen fuel cell at 
respective electrodes and overall reaction, we get 
At Anode: 
C5H12 + 10H20 � 5C02 +32H+ +32e­
(pcmancJ 

At Cathode: 
802 + 32H+ +32e- � l6H20 

Overall :C5H12 + 802 � 5C02 + 6H20 
Calculation of �Go for the above reaction 
�Go= (Sx(-394.4) + 6x (-237.2))- [-8.2) 
=- 1972.0- 1423.2+ 8.2 =-3387.0 kJ 
=-3387000 Joules. 
From the equation we find n = 32 
Using the relation, �Go =- nFE;ell and substituting 
various values, we get 

-3387000=-32x96500x E':e11 (F=96500C) 

or Eo = 3387000 
Cllll 32 X 96500 
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= 3387000 or 3387 
V = 1.0968 V 3088000 3088 

Thus option (c) is correct answer. 
30. (d) From the given representation of the cell, Ecell can be 

found as follows. 

E _ (Eo _Eo ) _ 0.059
10 [cr3+ ]2 

cell - Fe2+ /Fe Cr3+ /Cr 6 g 
[Fe2+]3 

2 
= -0.42 - (-0.72)- 0·059

tog� 
6 (0.0 1)3 

=-0.42+0.?2-0.059
10g 

O.lxO. l 

6 0.01x0.01x0.01 

[Nernst -Equ.] 

= 0.3 _ 0.059 log 1 o-2 
= 0.3 _ 0.059 X 4 6 10-6 6 

=0.30-0.0393= 0.26 v 
Hence option (d) is correct answer. 

31. (b) H20r=====H· • OH. 

32. (d) 

• • 1 H • e • .. -H2 2 
:. 0.5 mole of� is liberated by 1 F = 96500 C 
0.01 mole of� will be liberated by 

= 96500 
• 0.01 = 1930C 0.5 

Q=l  x t  

t . Q . 
I 

193° C • 1 9.3• 104 sec 
10• L0. 3 A 

33. (b) Conductivity (X) = conductance (c) x cell constant 
X :. Cell constant= 
Y 

X Conductivity ofNaOH = 
y .Z 

X 1000 XZ 4 6. m (NaOH) = -. Z x --=- 10 
y 0.1 y 

34. (b) Total of6 electrons are required to form2 moles ofCr3+ 
therefore to form 1 mole ofCr3+ 3F of charge is required. 

35. (a) When platinum electrodes are dipped in dilute solution 
�S04 than Hz is evolved at cathode. 

36. (a) Specific conductance = Conductance x Cell constant 
1 k =  x1 . 15  · 

2.5x 103 ' 

Ae = 1 . 1 5  
x 

1000 =4 6 
q 2.5x 103 0.1 . 

37. (a) Thus difluoro acetic acid being strongest acid will 
furnish maximum number of ions showing highest 
electrical conductivity. The decreasing acidic strength 

of the carboxylic acides given is djfluoro acetic acid > 
fluoro acetic acid > cbloro acetic acid> acetic acid. 

38. (a) No. of moles of silver = 9650 = _.!.._ moles 
96500 10 

:. Mass of silver deposited = _!_x 108= 10.8 g 
10 

1 
39. (c) W +  e- �-H2 2 

0.059 [P(H )]112 
E- co --log 2 

- �:. - I [H+] 

Now if PH2 = 2 atm and [H+] = 1M 

0.059 i'2 -0.059 then E = 0- --too-- = --loo2 1 b 1 2 b 

40. (a) 1 12 mLof�atSTP= 2x 1 12g 
22400 

(Since 22400 mL at STP = M.wt) 

A d .1 d Eq .wtxix t mount cpos1 c = ---''-96-5-0-0-

2 x 1 1 2  
. . 22400 

i = 1  amp 

1x965xi 
96500 , 

:. Wt. of Ag = 2 1 .6 g 
42. (d) Correct matching for pair (iii) will be 

[G (conductance) - siemens or ohm-1(S).] 
43. (a) The charge carried by 1 mole of electrons is one faraday. 

Thus for a reaction 
M0+ + ne- �M 
nF= 1 moleofM 
Al3++ 3e- � AI 
3F 1 mole 
IF 1/3 mole 

Cu2+ + 2e- � Cu 
2F I mole 
IF 112 mole 

Na++ e- � Na 
IF 1 mole 

The mole ratio of Al, Cu and Na deposited at the 
. 

th d . I I 6 respecttveca o e ts3:2: I or 2 : 3 :  . 
44. (a) Reciprocal of resistance is conductance. We can add 

the conductance and not resistance. 
l I 1 Hence -=-+-+ ........ . r P P 

45. (c) The correct relation is 6.G0 = -n FE0 
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